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(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the
authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words each, whereas answers to
Question Nos. 11 to 20 should be in 250 words each.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off,
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Wi v % R A R iR B B g @ e Bt
(3 150 =21 & Gftr)

Explain the role of geographical factors towards the development of Ancient India.
(Answer in 150 words)

wEren Tl iR Wi ik A fian sie ear % of W T siw o @?
(3@ 150 w=E) A §fvm)

What was the difference between Mahatma Gandhi and Rabindranath Tagore in
their approach towards education and nationalism? (Answer in 150 words)

ﬁq%ﬁﬁa%ﬁﬁh&%mﬁﬁﬁmﬁmﬁm-mﬁmnmﬁﬁmﬁﬁm
(3 150 W= A dif)

Bring out the socio-economic effects of the introduction of railways in different
countries of the world. (Answer in 150 words)

Iorsfeadia 2 % wm gen W ey gied F oo @ fda g
(3W 150 w==1 # difdng)

2l . .
Discuss the consequences of climate change on the foud scr:un In tropical

countries. W in 150 words)
mﬁwnﬁm%muﬂﬁmmt\qh’tc %mm%?

t’k(\\\,u (3 150 W= A Aiftm)
Why is the world rtoday\ t.}ontrontcd-wuh a crisis of availability of and access to
freshwater Te resnurgec? \./ (Answer in 150 words)

fraté 2 ﬁ?agﬁm%@mmﬁmﬁmﬁmi? (3@ 150 W=t § i)

How are the fjords formed? Why do they constitute some of the most picturesque
arcas of the world? (Answer in 150 words)

2for-ufim W g 8§ g’ (dl) w1 Fgarm {7 w0 Rawws W = woreh 3 8 %
WEFHF dEER B SR wnfa fen 27 (3 150 = 3 i)

Why is the South-West Monsoon called ‘Purvaiya’ (casterly) in Bhojpur Region? How
has this directional seasonal wind system influenced the cultural ethos of the

region? (Answer in 150 words)

wmﬁaﬂ%ﬁ,wrgﬁmmﬁﬁmzqmﬁwnﬁ:mﬁmqmtﬂmmm%?
(W 150 7=E # i)

Do you think marriage as a sacrament is loosing its value in Modern India?
(Answer in 150 words)
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VRAE A A Jagaiidl § sregen w6 93 W@ 27w it (IW 150 =1 7 Hiftn)

Explain why suicide among young women is increasing in Indian society.
(Answer in 150 words)

T F) gET R T I A BH 3 Aol R = F aeime o a1 A

(3m 150 = A Aftg)
Child cuddling is now being replaced by mobile phones. Discuss its impact on the
socialization of children, (Answer in 150 words)

#&mmﬂuﬁiﬁwﬁﬂmwi?mmmﬂ!ﬁsm%@ﬁmﬂmmﬂ

v ofi yafem §7 (3W 250 =1 A )
What are the main features of Vedic society and religion? Do you think some of the
features are still prevailing in Indian society? (Answer in 250 words)

Heaw w1 & A R R 9 e aem w® A7 3 awdd) el 3 vl aee E@)
wwifaa fFn w7 (IW 250 ==t 7 Hifsw)

What were the major technological changes introduced during the Sultanate period?
How did those technological changes influence the Indian Society?

C\W%\\ G?\E‘J%n;&v}cr}n 250 words)
& 5 it

o 3 SR e 3 e ) 43 AR A A AR Seie % 3 o
s =0 <47 AA @r;g“\&,b (3 250 =t i)
How did the colonialrulc}qﬂéébth@ tfibals in India and what was the tribal response

to the coin’r?ml‘o’ﬁf:;é‘séidn? (Answer in 250 words)
A g

NS
mm%ﬁleizh\%)maémm gt W feorfl fift ol @ A § vl @R D Yd D "R w

T Bt (3| 250 =21 # ifn)
Comment on the resource potentials of the long coastline of India and highlight the
status of natural hazard preparedness in these areas. (Answer in 250 words)

mﬂmmﬁmammmﬁmmmmmum#
w-maﬂﬁmam%mmmiﬁﬁm (W 250 W= 7 Hift)

Identify and discuss the factors responsible for diversity of natural vegetation in
India. Assess the significance of wildlife sanctuaries in rain forest regions of India.

(Answer in 250 words)

mﬁmﬁmmﬁmm%mmmﬁﬁmﬁgm? (IM 250 = & diftm)

Why did human development fail to keep pace with economic development in India?
(Answer in 250 words)
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17.

1960 % =% A 7 T AEEF ¥, wia fau § wF 1= am faies 5 w0 o) s @i

(3w 250 w=Et | Aift)
From being net food importer in 1960s, India has emerged as a net food exporter to
the world. Provide reasons. (Answer in 250 words)

18, TN W HEFT # wedww e Wit ol aifies gum o/ wie W @ S R

19.

(I 250 w=E i i)
Does urbanization lead to more segregation and/or marginalization of the poor
in Indian metropolises? (Answer in 250 words)
WIa #§ ada sif@m nfasie i fem 21 € = 7 (I 250 7=t | Aiftm)
Why is caste identity in India both fluid and static? (Answer in 250 words)

20, HAMEY YEUHE TE HYEEa W IW-RRaE] Adarn ® uvE 6 Aaen fifig
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(IM 250 7= 7| Afsm)

Discuss the impact of post-liberal economy on ethnic identity and communalism.
(Answer in 250 words)
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